National Process 34
Semiconductor NPN Planar Power
o087 DESCRIPTION
0.008 (2210) This device is a nonoverlay, double-diffused, silicon epitaxial
- oz planar transistor.
APPLICATION
This device was designed for general purpose amplifier ap-
0.008 plications utilizing collector currents to 5A.
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ELECTRICAL CHARACTERISTICS (T = 25°C)
Symbol Conditions Min Typ Max Units
BVceo Ic =10mA 80
BVcBo Ic = 100 A 100
BVego I =10pA 8
Iceo Ve = 60V 100 nA
lEBO Veg = 6V 100 nA
hee Ic = 1mA, Vcg = 5V 40
Ilc = 10 mA, Vcg = 5V 40
Ic = 100 mA, Vgg = 5V 40
Ic = 500 mA, Vgg = 5V 40 80 150
Ic = 1A, Vcg = 5V 20
Ic = 5A,Vgg = 5V 15
VCE(SAT) Ic =100 mA, Ig = 10 mA 0.05 0.10 v
Ic = 1A, Ig = 100 mA 0.20 0.30
VBE(SAT) Ic =100mA, Ig = 10 mA 0.70 0.85 v
Ic =1A,lg = 100 mA 0.90 1.10
heg Ice = 200 mA, Vgg = 10V, f = 20 MHz 4.0 5.0
Cob Vg = 10V, f = 1 MHz 60 70 pF
Cih Veg = 0.5V, f = 1 MHz 500 pF
ton Ic = 1A,Ig1 = 0.1A 90 120 ns
torF Ic = 1A, Igz = 0.1A 200 260 ns
PD(max)
TO-39 Tg = 25°C 7 w
Ta = 25°C 1 w
8,c Tc = 25°C 25 °C/W
A7 Ta = 25°C 175 °C/W
ty(max) TO-39 200 °C
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Process 34

Hgg = DC PULSE CURRENT GAIN

logo = LEAKAGE CURRENT (3:A)

P“m) = MAXIMUM POWER DISSIPATION (W)
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Pulsed DC Current Gain vs
Collector Current
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Ic = COLLECTOR CURRENT (AMPS)

Maximum Power
Dissipation vs
Case Temperature
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Te = CASE TEMPERATURE (°C)

Collector-Base Diode
Reverse Current vs
” Temperature
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Ty = JUNCTION TEMPERATURE (°C)

VBE(ON) - BAS[fEMI'ITER ON VOLTAGE (V)

Heg = FORWARD CURRENT TRANSFER RATIO

hgg = SMALL SIGNAL CURRENT GAIN

Base-Emitter ON Voltage vs
Coillector Current

Process 34

Maximum Power
Dissipation vs
Ambient Temperature
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Ic = COLLECTOR CURRENT (AMPS) Ta = AMBIENT TEMPERATURE (°C)
Pulsed DC Current Gain vs Capacitance vs Reverse
Ambient Temperature Bias Voltage
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Small Signal Current Gain
vs Collector Current
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Ig = COLLECTOR CURRENT (mA)

Base-Emitter Saturation

Voltage vs Collector Current
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Collector-Emitter Saturation

2 Voltage vs Collector Current
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